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%��&�&�'�%��/ �$/��
�4D<4=F>6 E<=F5F<G5E>>= ?DO6< 4>6>?L=> <=>7>: 4>D<? (?>?<4>D<?, ���), <<>D>D<5D4, ?>?<4<<4, ?>?<MEF5D < F. 4.

ü �>D<?>64O ?DO64 
(>=4 65 ?>?<4>D<?>64O, >=4 65 ���) 

�5N5<=4O < 6<7G4?L=> =4?><<=45F L5DEFL. �=4 >G5=L =5?D<E>F?<64O, 
E>D>L> ?5D5=>E<F EF<D>G, 5= =5 EFD4L=4 <>?L. �4>546>> 4>D<? G4EF> 
>>D4L<64NF 6 E>G=O5, OD><5 F65F4 (<=>7<5 =4FGD4?L=O5 6>?>>=4 F4> 
>>D4E<FL =56>7<>6=>). �> 5>?LL><G EG5FG, 4>D<?>64O ?DO64 4  <45-
4?L=O= 64D<4=F 4?O =4G<=4NM<E. �=4 =54>D>74O, 5= ?57>> 6O74FL, 
4 6 7>F>6>< ?>?>F=5 E>D>L> ?D>E<4FD<64NFEO ?5F?< < G7>DO. � F><G 65 
4>D<?>64O =<FL =5??>E> ?5D5=>E<F <=>7>>D4F=>5 6O74=<5, GF> ?>76>?O-
5F D4E?GE>4FL E6O74==O5 4?O FD5=<D>6>< >5D47FO < <E?>?L7>64FL ?DO6G 
5M5 D47.

�<>D>D<5D4 

�G5=L E>6D5<5==4O, <O7>4O < ?57>4O ?DO64, E>DGG5==4O <7 F>=G4=L<E 
=<F5= ?>?<MD<D4 <?< ?>?<4<<44. �=4 E>D>L> ?5D5=>E<F EF<D>G, 5O-
EFD> 6OEOE45F, =5 >5D47G5F >4FOL>>6, =5 ?<=O5F < =5 F5DO5F 6>DE<=><. 
�5D4F<F5 6=<<4=<5: <745?<O <7 <<>D>D<5DO =5?L7O 7?44<FL < EGL<FL 
=4 54F4D55.

�>?<MEF5D < ?>?<4<<4 G4M5 <E?>?L7GNF 6 E>EF465 E<5L4==>= ?DO6<, 
> >>F>D>= <O < ?>7>6>D<< =4 E?54GNM5= EFD4=<F5.

��%����

ü �<E>>74 

�4=> <7 EF4D5=L<E <E>GEEF65==OE 6>?>>>=. �7> ?>?GG4NF 74 EG5F ?5D5D45>F>< ?D<-
D>4=>= F5??N?>7O. -F> E?>6=O= E<<<G5E><= ?D>F5EE, ?>MF><G 6<E>>7G =5 ?D<G<E-
?ONF > 6>?>>=4< ?D<D>4=>7> ?D><EE>645=<O. �DO64 <7 6<E>>7O ?> E6><< E6>=EF64< 
=4?><<=45F E?>?>> 4  >=4 E>D>L> 6?<FO645F 6?47G < ?D>?GE>45F 6>74GE, 7<7<5=<G=4, 
=5 M?5>FD<7G5FEO. �> <745?<O <7 100 % 6<E>>7O ?57>> <=GFEO < ??>E> ?5D5=>EOF 6>745=-
EF6<O >>DG64NM5= ED54O, ?>MF><G 6<E>>7=>5 6>?>>=> G4EF> <E?>?L7GNF 6 E<5L4==OE 
6<44E ?DO6<.
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�$/�� %��,������ %�%&���
�4> <O G65 7>6>D<?<, ?DO64, MF> =<FL <7 <=>65EF64 E>DGG5==OE 4DG7 E 4DG7>< 6>?>>>=, < >=< =5 >5O74F5?L=> 4>?6=O 
5OFL >4=>D>4=O<<. %?DOEFL =<FL <>6=> E<5L46 D47=O5 ?> ?D><EE>645=<N < ?> E6><< E4D4>F5D<EF<>4< <4F5D<4?O. �5-
?4NF MF> 4?O ?>?GG5=<O ?DO6< E >?D545?5==O<< E6>=EF64<<. �4?D<<5D, E<5L4==O5 E E<=F5F<G5E><< 6>?>>=>< E?>?>> 
< L5DEFL ?GGL5 ?5D5=>EOF EF<D>G.
,5DEFO=O5 < E<=F5F<G5E><5 6>?>>=4 E<5L<64NF 6 E4<OE D47=OE ?D>?>DF<OE. �E?< ?D>F5=F L5DEFO=>7> 6>?>>=4 =5 
>G5=L <4?, ?DO64 E>ED4=O5F E6>=EF64 L5DEF<, => EF4=>6<FEO 5>?55 =5?D<E>F?<6>= 4  =5 E44<FEO ?D< EF<D>5, =5 >5D47G5F 
>4FOL><, =5 F5DO5F 6>DE<=>< < G4EF> =5 FD55G5F E?5F<4?L=>7> GE>44. �EFL 4465 6<4O E<5L4==>= ?DO6<, <745?<O <7 
>>F>DOE <>6=> EF<D4FL 6 EF<D4?L=>= <4L<=5 (=4 D56<<5 45?<>4F=>= EF<D><).

ýð%<5EL E?>?>4 (55 %) < ?>?<4>D<?4 (45 %). &4>4O 
?DO64 ?>?GG45FEO ?57G5 =<F>>, E>EF>OM<E F>?L>> <7 
D4EF<F5?L=>7> 6>?>>=4, 4 <745?<O =5 E44OFEO ?>E?5 
EF<D><.

ýð�45EL 6 D46=OE ?D>?>DF<OE E<5L4=O L5DEFL (50 %) 
< ?>?<4>D<? (50 %). �5M< <7 MF>= ?DO6< >4=>6D5<5==> 
E>D>L> 7D5NF < MDD5>F=> 6O7?O4OF 74 EG5F >E>5>= D4>-
FGDO < 5?5E>4 =<F<.

ü �4L D5>>D4E<5= ?> >>?<G5EF6G E>EF46?ONM<E: 40 % ?>?<-
MEF5D + 33 % ?>?<4>D<? + 22 % L5DEFL + 5 % 4?L?4>4. '4<6<-
F5?L=> ?57>4O, 6>74GL=4O, >5N5<=4O < <O7>4O ?DO64. �E?< 6O 
?D<E<>FD<F5EL > D>F>, F> 74<5F<F5, GF> 6=GFD5==OO >5N5<=4O 
< 6>DE<EF4O =<FL >??5F5=4 F>=G4=L5= E<=F5F<G5E>>= E5F>G>>=. 
� D4745?5 «�D>5>FO» 6O =4=45F5 GNF=O= L4DD-E=G4, E6O74==O= 
<7 MF>= ?DO6<.
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&<?O >>D4E>< < D4>FGD4

�><<<> E>EF464, ?DO64 <>65F D47?<G4FLEO ?> F<?G >>D4E>< < ?> E6>5= D4>FGD5.

ý �5?4=6564O ?DO64

�<FL <5?4=656>= ?DO6< (>F DD4=FG7E>>7> melange 4  
«E<5EL») E>DGG5=4 <7 46GE <?< =5E>>?L><E =<F5= D47=>-
7> F65F4 (<, 6>7<>6=>, D47=>7> E>EF464). �464GN =<FL 
>>D4L<64NF 6 E6>= F65F >F45?L=>, < F>?L>> ?>E?5 MF>7> 
E>DGG<64NF 6E5 =<F< 6<5EF5. �<FL ?DO6< ?>?GG45FEO 
?5EFD>=, => E>>F=>L5=<5 F65F>6 >EF45FEO >4<=4>>6O< =4 
?N5>< 55 GG4EF>5.
�DO64 =4 D>F> E>DGG5=4 <7 =<F5= 55?>7> < 7>?G5>7> 
F65F>6.
   

ý �DO64 E5>F<>==>7> >D4L5=<O

-FG ?DO6G 45?4NF <=4G5: <7 6>?>>>= (>4=>D>4=OE <?< 
E<5L4==OE) E>DGG<64NF =<FL, ?>E?5 G57> G65 7>F>6GN 
=<FL >>D4L<64NF E5>F<O<< 6 D47=O5 F65F4. &4><5 E5>F<< 
<>7GF 5OFL E>6E5< =55>?LL<<< (E6O74==>5 <745?<5 
?>?GG<FEO >4=>D>4=>-?5EFDO<) <?<, =4>5>D>F, 4?<==O-
<< 4  F>744 GG4EF>< D47=>7> F65F4 5G4GF E>D>L> 74<5F=O 
6 7>F>6>= D45>F5.

ü �DO64 E ?D<<5ELN <>E5D4 

�F?<G45FEO >E>55==> ?GL<EFO< 6>DE><. �>E5D G4EF> 
E<5L<64NF E E<=F5F<G5E><<< E>EF46?ONM<<<, GF>5O 
E>D5?<FL F>=G4=L<5 L5DEFO=O5 6>?>>=4. %F><F GG5EFL, 
GF> ?DO64 E <>E5D>< =5 ?>4E>4<F 4?O 6O74=<O 65M5= 4?O 
<?445=F56 < <4?5=L><E 45F5=: 6 ?D>F5EE5 =>E>< E =55 5G-
4GF >EO?4FLEO 6>DE<=><, >>F>DO5 <>7GF ?>?4EFL 6 D>F <?< 
4OE4F5?L=O5 ?GF< <4?OL4.
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ý -F4 ?DO64 <7 E<5E< E?>?>4, ?>-
?<4>D<?4 < ?>?<4<<44 =4?><<=4-
5F F>=><= L=GD>>.

�565D>OF=> ?57>4O < <O7>4O þ 
E<=F5F<G5E>4O ?DO64 E «D5E=<G>4<<» 
64>?L >E=>6=>= =<F<.

ü �6>==>= MDD5>F: ?DO64 E5>F<>=-
=>7> >D4L5=<O E >G5=L <=F5D5E=>= 
EFDG>FGD>=.
   

�5EF4=44DF=O5 <4F5D<4?O

�4 E4<>< 45?5 6O74FL >DNG>>< <>6=> =5 F>?L>> <7 ?DO6<. �<65 6O =4=45F5 =5E>>?L>> ?D<<5D>6 <4F5-
D<4?>6, 6?>?=5 ?>4E>4OM<E 4?O 6O74=<O, 4 ?>4D>5=55 > =5>5OG=OE ?D>5>F4E < <745?<OE <O ?>7>6>D<< 
?>765 6 >F45?L=>= 7?465. �5D4F<F5 6=<<4=<5: 6E5 MF< <4F5D<4?O =5 7>4OFEO 4?O E4<OE ?5D6OE L47>6.

ý �5D56>4 <7 E<=F5F<G5E>>7> 6>?>>=4

�5D56>> EGM5EF6G5F 65?<>>5 <=>65EF6>: < <7 E<=F5F<G5E><E, 
< <7 =4FGD4?L=OE 6>?>>>=. �O74FL <>6=> <7 ?N5>=, 7?46=>5, 
GF>5O >=4 5O?4 =5 E?<L>>< F>?EF>= < 65EF>>=.   

ý �D>6>?>>4 F>?M<=>= 0,25 << 

&4>4O ?D>6>?>>4 ?D>445FEO 6 <4747<=4E 4?O DG>>-
45?<O, 5O645F D47=>= F>?M<=O, D47=>7> E>EF464 
< 6E56>7<>6=OE F65F>6. �?O 6O74=<O ?GGL5 6E57> 
?>4E>4<F ?D>6>?>>4 F>?M<=>= 0,2530,3 <<.

�>?>E>< F>4=< þ

�D5>D4E=> ?>4E>4OF 4?O 6O74=<O, < MF>, >EF4F<, >G5=L =5??>-
E>= 64D<4=F GF<?<74F<< EF4DOE 65M5=. �>?55 F>7>, F>=><5 
?>?>E>< E<=F5F<G5E>>= F>4=< E5=G4E 4465 <>6=> >G?<FL 
6 <4747<=4E 4?O DG>>45?<O.
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�F =<F< > <>F>G

ý �< 4?O >>7>, =465D=>5, =5 E5>D5F, GF> ?DO6G ?D>44NF 
6 <>F>4E =4 65E. '4M5 6E57> <>F>> ?DO6< 65E<F 50 7, D565 
100 <?<, =4>5>D>F, 6E57> 25. �4> ?D46<?>, 6 25-7D4<<>6OE 
<>F>4E 5O645F ?<5> >D4==5 ?57>4O ?<5> >G5=L 4>D>74O 
?DO64, =4?D<<5D 4=7>D4.

ý �>F>< 5O64NF D47=>= D>D<O: ?D>4>?7>64FO5 < >>DG7-
?O5, ?>5>?LL5 < ?><5=LL5 (746<E<F >F ??>F=>EF< ?DO6<), 
=> 6E5 >=< E<>F4=O F4><< >5D47><, GF>5O ?D< 6O74=<< 
=<FL ?57>> D47<4FO64?4EL E4<>EF>OF5?L=> < 64< =5 ?D<E>-
4<?>EL 45?4FL MF> 6DGG=GN.

ü � F5=FD5 <>F>4 E?DOF4=O 464 >>=F4 =<F< 4  =4DG6=O= < 6=G-
FD5==<=. �E?< 6O ?>FO=5F5 74 6=GFD5==<= >>=5F, <>F>> =4G=5F 
D47<4FO64FLEO <7 E5D54<=O, E=4G4?4 6=GFD5==<5 E?><, ?>F>< 
6=5L=<5. �>FO=G6 74 =4DG6=O= >>=5F, 6O D47<>F45F5 =<FL 5>?55 
?D<6OG=O< E?>E>5><: =4G<=4O E 6=5L=<E E?>56. �E?>?L7>64FL 6> 
6D5<O 6O74=<O <>6=> < F>F, < 4DG7>= E?>E>5. �D< 6OFO7<64=<< 
=<F< <7 E5D54<=O <>F>> =5 E>4G5F, => =4DG6=O5 E?><, >>744 <E 
>EF45FEO =5<=>7>, ?57>> E?GFO64NFEO. �>MF><G G4>5=55, ?>64?G=, 
6E5-F4><, >?4EE<G5E><= E?>E>5. �E?< <>F>> ?D< MF>< ?DO745F < G>4-
FO645FEO 4  ?>?>6<F5 57> 6 =55>?LLGN ??4EF<>>6GN 5<>>EFL.
   

ü �
FD5=
D47<
6=5L
?D<6
6D5<
=<F<
>EF45
6E5-F
FO64

�4DG6=O= >>=5F =<F<

�=GFD5==<= >>=5F E?DOF4= 6=GFD< >F65DEF<O 
6 E5D54<=5 <>F>4, 57> =4E>4OF =4 >MG?L
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-F<>5F>4

�O5<D4O ?DO6G 6 <4747<=5, >5O74F5?L=> >5D4F<F5 6=<<4=<5 =4 MF<>5F>G, >>F>D4O 5EFL =4 >464>< <>F>5.
�<5==> MF<>5F>4 4  7?46=O= <EF>G=<> 6E5= =5>5E>4<<>= F5E=<G5E>>= <=D>D<4F<< > F>?M<=5 < E>EF465 
=<F<, 55 D4EE>45 < >E>55==>EFOE GE>44 74 7>F>6O< <745?<5<.
�4 MF<>5F>5 6E5744 =4?<E4= E>EF46 (=4?D<<5D «50 % L5DEFL / 50 % 4>D<?») < 4?<=4 =<F< 6 <>F>5. � 6F>D>< 
?>>474F5?5 EF><F ?>7>6>D<FL >F45?L=>.
�4> <O G65 7>6>D<?<, ?DO6G ?D>44NF =4 65E. �D< MF>< 464, >474?>EL 5O, >4<=4>>6OE ?> 65EG <>F>4 <>7GF 
5OFL E>65DL5==> D47=O<< ?> D47<5DG, 5E?< >=< E>EF>OF <7 D47=>= ?DO6<. %?>?>> 4  6>?>>=> =5 >G5=L 
>5N5<=>5, => FO65?>5 4  <>F>G>< E?>?>4 =55>?LL<5 < ??>F=O5. �>D<?, =4>5>D>F, >G5=L ?57><= 4  57> <>F-
>< 5>?LL<5 < <O7><5. �><<<> >5N5<4, D47=4O ?> E>EF46G ?DO64 5G45F >F?<G4FLEO 4DG7 >F 4DG74 < E>>F=>-
L5=<5< 4?<=O =<F< =4 54<=<FG <4EEO. �4?D<<5D, 6 <>F>5 E?>?>4 (65E 50 7, =<FL 233 >4F57>D<<, ) 5G45F 
?D<<5D=> 125 < ?DO6<, 4 6 <>F>5 4>D<?4 (65E 50 7, =<FL 233 >4F57>D<<) 4 >>>?> 196 <.
�<5==> MF>F ?>>474F5?L < ?D>?<EO645FEO =4 MF<>5F>4E. '5< F>?M5 < FO65?55 =<FL, F5< >>D>G5 >=4 5G45F 
<7 D4EG5F4 =4 50 7 (E<. F4>65 F45?<FG =4 E. 23).
�><<<> MF>7> =4 MF<>5F>5 6E5744 G>474= =><5D ?4DF<< F>64D4. �4 =57> >5O74F5?L=> =G6=> >5D4M4FL 
6=<<4=<5: 5E?< 6O ?>>G?45F5 =5E>>?L>> <>F>>6 ?DO6< >4=>7> F65F4, >=< 4>?6=O 5OFL <7 >4=>= ?4DF<<, 
<=4G5 <E >FF5=>< <>7GF =5 E>6?444FL.

ü �EN >EF4?L=GN <=D>D<4F<N, >4> ?D46<?>, =5 ?<LGF F5>-
EF><, 4 74L<DD>6O64NF 6 GE?>6=OE >5>7=4G5=<OE, >>F>DO5 
?57>> ?>=OFL 6=5 746<E<<>EF< >F <4D>< < EFD4=O 4 ?D><7-
6>4<F5?O ?DO6<.

 -F<< E<<6>?>< >5>7=4G4NF F>?M<=G =<F<, => =5 >>=>D5F=GN 65?<G<=G 6 <<??<<5FD4E, 4 >4F57>D<N, > >>F>D>= 
?DO6G <>6=> >F=5EF<. �E57> EGM5EF6G5F 7 >4F57>D<=: >F 0 (E65DE-E65DEF>=>4O) 4> 6 (>G5=L F>?EF4O). �=4FL F>?M<=G =<F< 
=5>5E>4<<> 4?O F>7>, GF>5O ?D46<?L=> ?>4>5D4FL >DNG>>. %>>F=>L5=<5 >4F57>D<= ?DO6< < D47<5D>6 >DNG>4 6O =4=45-
F5 6 F45?. =4 E. 23. �=>744 MF>F E<<6>? =4 MF<>5F>5 >FEGFEF6G5F.

 �>64?G=, >4<= <7 E4<OE 646=OE E<<6>?>6, >E>55==> 4?O =4G<=4NM<E. &<DDO =4 =5< >5>7=4G4NF D47<5DO >DNG>4 
(< E?<F), ?>4E>4OM<E 4?O 6O74=<O 44==>= ?DO65=. �4> ?D46<?>, MF> 464-FD< D47<5D4. �4?D<<5D, F<DDO «334» >7=4G4NF, 
GF> ?>4>=4GF >DNG>< F>?M<=>= 3 <<, 3,5 << <?< 4 <<.

3
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 -F>F E<<6>? E>45D6<F <=D>D<4F<N > F><, E>>?L>> ?5F5?L (6 >4=>< DO4G) < DO4>6 (?> 65DF<>4?<) =44> ?D>6O74FL MF>= 
?DO65=, GF>5O ?>?GG<FL >5D475F D47<5D>< 10 ô 10 E<.
�>?<G5EF6> ?5F5?L G>47O64NF 64>?L =<6=5= <?< 65DE=5= EF>D>=O >644D4F4, >>?<G5EF6> DO4>6 4  64>?L ?56>= <?< ?D4-
6>=. � >F=>L5=<< 6O74=<O >DNG>>< MF> =5 6E5744 F>G=O5 ?>>474F5?<, ?>E>>?L>G G4M5 6E57> ?D><76>4<F5?< >?D545?ONF 
<E, <EE>4O <7 6O74=<O >5D47F4 =4 E?<F4E. �5D4F<F5 6=<<4=<5: >>?<G5EF6> >?5F>G5> 6 E<<6>?5 =5 <7D45F =<>4>>= D>?<.

 %<<6>?, ?>>47O64NM<= ?D<<5D=O= D4EE>4 ?DO6< =4 >?D545?5==>5 <745?<5 >?D545?5==>7> D47<5D4. &> 5EFL «=4 
E6<F5D E 4?<==O< DG>46>< 407> D47<5D4 ?>=44>5<FEO ?D<<5D=> 450 7 ?DO6<».

 «�745?<5 <7 MF>= ?DO6< FD55G5F DGG=>= EF<D><».

 �M5 >4<= =5<4?>646=O= 4?O 6O74=OE 65M5= E<<6>?: «%GL<FL, D47?>6<6 =4 D>6=>= ?>65DE=>EF<».

 «�5?<>4F=4O EF<D>4 ?D< F5<?5D4FGD5 =5 6OL5 40°%».

%<<6>?>6, >4E4NM<EEO GE>44 74 <745?<O<<, 4>6>?L=> <=>7>, => 5>?LL4O <E G4EFL 64<, E>>D55 6E57>, 446=> 7=4>><4.

22�

22R10E<

10E<

~ 450 7

40

&65F

� E4<>< =4G4?5, >>744 6O 5M5 F>?L>> =4G<=45F5 >E64<64FL ?D<5<O 6O74=<O, F65F ?DO6<, >>=5G=> 65, 
7=4G5=<O ?>GF< =5 <<55F. �?46=>5, GF>5O >=4 D44>64?4 7?47 < 5O?4 =5 E?<L>>< F5<=>= (GF>5O E>D>L> 
6<45FL D<EG=>> ?5F5?L). �> >4> F>?L>> 6O 6>7L<5F5EL 74 E6>= ?5D6O= ?D>5>F, 6>?D>E F65F>6>= ?4?<FDO 
EF4=5F 65EL<4 EGM5EF65==O<. �465 E4<>5 ?D>EF>5 <745?<5 <>65F 6O7?O45FL >G5=L MDD5>F=> 74 EG5F 
<=F5D5E=>7> < 74D<>=<G=>7> E>G5F4=<O F65F>6. �4E>>?L>> E>D>L> E>G5F4NFEO F5 <?< <=O5 F65F4, <>6=> 
>?D545?<FL E ?><>MLN F65F>6>7> >DG74.

&��&���� �$'� �&&��� 
(�>E4==5E �FF5= 4  L65=F4DE><= EG4>6=<>, ?5447>7 
< >DG?=5=L<= <EE?54>64F5?L F65F4 6 <E>GEEF65.)
� >E=>65 MF>7> >DG74 ?564F FD< F4> =47O645<OE ?5D-
6<G=OE F65F4 4  >D4E=O=, 65?FO= < E<=<=.
%<5L46 <E ?>?4D=>, <O ?>?GG<< 5M5 FD< F65F4 4  
75?5=O=, >D4=656O= < D<>?5F>6O=. -F> 6F>D<G=O5 
F65F4.
�, =4>>=5F, ?>?4D=> E<5L<64O ?5D6<G=O5 F65F4 E> 
6F>D<G=O<<, <O ?>?GG45< 5M5 L5EFL F65F>6 4  FD5-
F<G=O5 F65F4.
�E5 6<5EF5 12 ?5D6<G=OE, 6F>D<G=OE < FD5F<G=OE 
F65F>6 >5D47GNF F65F>6>= >DG7.

�5D6<G=O= 
F65F

&D5F<G=O= 
F65F

�F>D<G=O= 
F65F
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ü � F65F>6>< >DG75, >4> 6O G65 74<5F<?<, =5F G5D=>-
7>, 55?>7> < 6E5E >FF5=>>6 E5D>7>. -F> F4> =47O645<O5 
4ED><4F<G5E><5 F65F4. %<5L<64O <E E F65F4<< >DG74, 
<>6=> ?>?GG<FL >7D><=>5 >>?<G5EF6> 4>?>?=<F5?L=OE 
>FF5=>>6.

&��&��/� %�'�&���/
&5?5DL, >?<D4OEL =4 F65F>6>= >DG7, <O ?>7>6>D<< >5 >E=>6=OE ?D<=F<?4E 74D<>=<G=>7> E>G5F4=<O F65F>6. �5 ?G74=-
F5EL E?>6=OE =4764=<= 4  74?><<=4FL <E E>65DL5==> =5>5O74F5?L=>, 7?46=>5 ?>=OFL ?D46<?4, >>F>DO5 ?><>7GF 64< 
?>4>5D4FL G44G=GN F65F>6GN >><5<=4F<N.

ý �=4?>7<G=>5 E>G5F4=<5

%>G5F4=<5 46GE <?< FD5E E>E54=<E 
F65F>6 >DG74. �G5=L <O7><=, E?>>>=-
=O= < 557>L<5>G=O= 64D<4=F.

ü �><??5<5=F4D=>5 
(4>?>?=<F5?L=>5) E>G5F4=<5

%>G5F4=<5 F65F>6, =4E>4OM<EEO 
4DG7 =4?D>F<6 4DG74 (<E =47O64NF 
>><??5<5=F4D=O<<). -F> >G5=L 
E<?L=4O < OD>4O >><5<=4F<O, 6 >>F>-
D>= >>=FD4EF=O5 F65F4 4>?>?=ONF 
< ?>4G5D><64NF 4DG7 4DG74.

ý $4745?L=>->><??5<5=F4D=4O FD<444

'GFL 5>?55 <O7><= 64D<4=F >><??5-
<5=F4D=>7> E>G5F4=<O, ?>GF< F4>>= 
65 >>=FD4EF=O=, => 5>?55 E?>>>==O=. 
�<5EF> >4=>7> <7 ?D>F<6>?>?>6=OE 
F65F>6 <E?>?L7GNF 464 E>E54=<E E =<< 
F65F4.

ü �?4EE<G5E>4O FD<444 

%>G5F4=<5 FD5E F65F>6, =4E>4OM<EEO =4 
>4<=4>>6>< D4EEF>O=<< 4DG7 >F 4DG74. 
�4?D<<5D, <EE>4=O5 4?O 6E57> >DG74 
>D4E=O=, 65?FO= < E<=<=.
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ý %GM5EF6GNF F4>65 464 E>G5F4=<O <7 G5FOD5E F65F>6, F4> =47O645<O5 F5FD44O. �4=4 <7 =<E ?D54EF46?O5F E>5>= ?DO<>-
G7>?L=<>, 4DG74O 4  >644D4F. �55 F5FD44O E>EF>OF <7 46GE ?4D >><??5<5=F4D=OE F65F>6, ?D< MF>< >4<= <7 F65F>6 4>?65= 
5OFL >E=>6=O< 6 <745?<<, >EF4?L=O5 4  6E?><>74F5?L=O<<.

��$���&/ &��&��/% ����&$

ü &5??O5 < E>?>4=O5 F65F4

'E?>6=> F65F>6>= >DG7 <>6=> D4745?<FL =4 465 ?>?>6<=O 4  F5?-
?GN < E>?>4=GN. �D4E=O=, 65?FO= < >D4=656O= F65F4 >F=>EOF 
> F5??O<, 4 E<=<=, 75?5=O= < D<>?5F>6O= 4  > E>?>4=O<. �> MF> 
45?5=<5 45=EF6<F5?L=> 4>EF4F>G=> GE?>6=>, ?>E>>?L>G ?N5>= 
>FF5=>> ?N5>7> F65F4 4  MF> E<5L5=<5 F65F>6 < G4EF> <<5==> >F 
?D>?>DF<= MF>7> E<5L5=<O 746<E<F, =4E>>?L>> F5??>5 <?< E>-
?>4=>5 6?5G4F?5=<5 >FF5=>> ?D><76>4<F. �4?D<<5D, E<=<= 4  MF> 
E>?>4=O= F65F, => MF> <>65F 5OFL < ?54O=>= 7>?G5>= (E 5>?L-
L>= 4>?5= 4ED><4F<G5E>>7> 55?>7>), < <O7><= E<=<= E F5??O<< 
>D4E=>64FO<< =>F>4<<. � F5??O= >D4E=O= <>65F 5OFL < 64D><< 
>D4E=>->D4=656O<, < ?D>E?44=O< D>7>6O< E 5>?LL>= 4>?5= 
55?OE < E<D5=56OE F>=>6.

&5??O5

%>?>4=O5

ý �4EF5?L=O5 F>=4

�4EF5?L=O5 F65F4 4  =56=O5 <O7><5 >FF5=><, ?>?GG4NM<-
5EO <7 5>?55 =4EOM5==OE G<EFOE F>=>6 ?GF5< 4>546?5=<O 
55?>7> F65F4. �E >E>55==> G4EF> <E?>?L7GNF 4?O 45FE>>= 
>4564O < E65F?OE ?57><E ?5F=<E <>45?5=. �><<<> MF>7> 
>=<, >4> ?D46<?>, ?D5>D4E=> E<>FDOFEO 6 <=F5DL5D5.

ý �5=FD4?L=O5 F65F4

�5=FD4?L=O5 F65F4 E>D>L> E>G5F4NFEO ?D4>F<G5E>< 
E ?N5O< >FF5=>>< F65F>6>7> >DG74. -F> GE?>6=4O 7DG??4, 
> >>F>D>= <>6=> >F=5EF< 55?O=, G5D=O= < E5DO5 F65F4, 
4 F4>65 >FF5=>< F65F4 E?>=>6>= >>EF< < E5D>->>D<G=56>7> 
F65F4.
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�DNG>< < 4DG7<5 ?>?57=O5 65M<
�O74=<5 >DNG>>< =5 FD55G5F ?>>G?>< <=>65EF64 E?5F<4?L=OE <=EFDG<5=F>6 < ?D<-
=44?56=>EF5=. � >5M5<-F>, 6E5, GF> 64< =G6=> 4?O =4G4?4, 4 MF> ?DO64 < 233 >DNG>4. 
�?NE F>?EF4O <7?4 E FG?O< >>=F>< < =>6=<FO, >>F>DO5 =4=4GFEO 6 >464>< 4><5.

�DNG><

%4<4O 7?46=4O E4D4>F5D<EF<>4 >DNG>4 4  MF> 57> D47<5D, F>?M<=4. '5< F>?M5 ?DO64, <7 >>F>D>= 6O 
6O65F5, F5< 5>?55 F>?EFO= >DNG>> 64< ?>=44>5<FEO, < =4>5>D>F. �4> ?D46<?>, F>?M<=G >DNG>4, F.5. 57> 
4<4<5FD 6 E5G5=<<, <7<5DONF 6 <<??<<5FD4E < ?<LGF ?DO<> =4 E4<>< >DNG>5, >G5=L G4EF> ?D>EF> 6 6<45 
F<DDO, =4?D<<5D, 4.0, 5E?< F>?M<=4 >DNG>4 4 <<.

�4 EFD4=<F5 23 6O =4=45F5 ?>4D>5=GN F45?<FG, E ?><>MLN >>F>D>= E<>65F5 ?>45<D4FL > ?DO65 >DNG>< =5>5E>4<<>7> 
D47<5D4. &4><E D47<5D>6 6E5744 =5E>>?L>>, ?D46<?L=55 5G45F E>474FL, GF> MF> >?D545?5==O= 4<4?47>= D47<5D>6 (4 <=>744 
MF>F 4<4?47>= <>6=> < D4EL<D<FL ?> E6>5<G GE<>FD5=<N). �4?D<<5D, 4?O ?DO6< 2 >4F57>D<< (E<. F45?. =4 E. 23) ?>4>=-
4GF >DNG>< 6 4<4?47>=5 >F 3,5 4> 4,5 <<.
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ý �4>>= D47<5D >DNG>4 >>465FEO E4<O< ?>4E>4OM<< 6 >>=>D5F=>< E?GG45 4  746<E<F < >F D4>FGDO ?DO6<, < >F <4F5D<-
4?4 >DNG>4, < >F 64L5= <4=5DO 6O74FL, < >F F>7>, >4>>= D57G?LF4F 6O E>F<F5 ?>?GG<FL. �4 ?5D6OE ?>D4E 64< ?D<45FEO 
=5<=>7> ?>M>E?5D<<5=F<D>64FL.

�5F4??<G5E><5 >DNG>< þ

�>7GF 5OFL F5?L=><5F4??<G5E><<< <?< 
E>EF>OFL <7 <5F4??<G5E>>7> EF5D6=O 
E 7>?>6>>= (E>5EF65==> F4 G4EFL, >>F>D>= 
6O6GF) < ??4EF<4EE>6>= DGG><. �DNG>< 
<7 <5F4??4 >G5=L ?D>G=O5, =5 7=GFEO, =5 
EF<D4NFEO < >G5=L 45?<>4F=> >5E>4OFEO 
E ?DO65=. �<5==> >=< 5>?LL5 6E57> 
?>4E>4OF 4?O ?5D6OE L47>6 (4 ?> 5>?L-
L><G EG5FG, 6>>5M5 4?O 6E57> 6O74=<O). 
�454?L=O= 64D<4=F 4?O >E6>5=<O ?5D6OE 
?5F5?L 4  >DNG>> 3,534 << < ?DO64 
2 >4F57>D<<.

�E5 FD< >5D47F4 E>EF>OF <7 >4<=4>>6>7> >>?<G5EF64 ?5F5?L (15 ?. 6 DO4G) < DO4>6 (8) < E6O74=O >4=>= < F>= 65 ?DO65=, => 
>DNG>4<< D47=>7> D47<5D4.

�DNG>> 2 <<. �5F?< ?>?GG4NFEO 
4>EF4F>G=> FG7<<<, 4 ?>?>F=> 
??>F=O<, 557 ?D><56GF>>6.

�DNG>> 3 <<. �>64?G=, E4<O= 
74D<>=<G=O= 64D<4=F 4  ?5F-
?< ED54=57> D47<5D4, ?>?>F=> 

?>?GG45FEO 557 4OD>>, => <O7><< 
< 7<5><<.

$47<5D >DNG>4

�>?>6>4 %F5D65=L

�>D>4>4

$GG>4

�DNG>> 4 <<. �5F?< >DG?=O5, 
?>?>F=> <O7>>5, FO=5FEO (?D< 

MF>< EF4=>6OFEO 6<4=O ?D><56GF-
>< <564G ?5F?O<<), => 5G45F EG65 

45D64FL D>D<G.

ü �?4EF<4EE>6O5 >DNG>< 

�G5=L ?D<6?5>4F5?L=> 6O7?O4OF, >E>55==> 5E?< >G?<FL ED47G F5?O= =45>D, 6 >>F>D>< 
>464><G D47<5DG E>>F65FEF6G5F E6>= F65F. �> >F=>E<F5?L=> F>=><5 ??4EF<4EE>6O5 
>DNG>< (F>=LL5 3.0 <E >5OG=> =5 45?4NF) =5 6E5744 G4>5=O 6 D45>F5 4  >=< E?<L>>< 
?57><5, ?D< 6O74=<< G4EF> ?DG6<=OF < ?D>7<54NFEO. � F><G 65 5E?< >=< =5 >G5=L 
6OE>>>7> >4G5EF64 < ??>E> >FL?<D>64=O, F> <>7GF ?D< ?D>6O7O64=<< ?5F5?L F5??OFL 
< ?>DF<FL =<FL. �GGL5 45?> >5EF><F E 5>?LL<<< D47<5D4<<, =4G<=4O >F 637. -F< 
>DNG>< G65 =5 7=GFEO < 5O64NF >G5=L E>D>L57> >4G5EF64.
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>464
>DN
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6OE>
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�5D56O==O5 >DNG>< þ

�5?4NF <7 F65D4OE E>DF>6 4D565E<=O < <7 54<5G>4. �45EL, 
>4> < 6 E?GG45 E ??4EF<4EE>6O<< 64D<4=F4<<, >G5=L <=>7>5 
746<E<F >F >4G5EF64 >5D45>F>< 4  =4E>>?L>> E>D>L> >FL?<-
D>64= E4< >DNG>>, =4E>>?L>> FM4F5?L=> 6O?>?=5=4 5>-
D>4>4. �4G5EF65==O5 >DNG><, >E>55==> ED54=<5 < F>?EFO5, 
<>7GF 5OFL >G5=L ?D<OF=O<< 6 D45>F5.

%��&��,���� $����$�� �$.'��� � &��-��/ �$/��

�4F57>D<O 
?DO6<

0
E65DE-E65DEF>=>4O

1
E65DEF>=>4O

2
>G5=L F>=>4O

3
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ED54=OO

5
F>?EF4O

6
>G5=L F>?EF4O

?D<<5D=O= 
<5FD46 6 50 7
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>>?-6> EF>?5<-
>>6 557 =4><44 
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32342
EF>?5<>>6 E =4-
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21332 16320 12317 11314 8311 539

$47<5D >DNG>4 
6 <<
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<?< <2,25

2,2533,5 3,534,5 4,535,5 5,536,5 6,539 9
<?< 5>?LL5

%��&��,���� %�%&�� �'��$�&�� �$.'���, �$��/&/% � %,�, �������$�&���� � ������

�5FD<G5E>4O E<EF5<4 0,6 0,75 1 1,25 1,5 1,75 2 2,25 2,5 2,75 3 3,25 3,5

%,� 14 steel 12 steel 11 steel 7 steel 6 steel 5 steel B/1 C/2 D/3 E/4

�5?<>>5D<F4=<O / �4=444 14 12 10 9

�5FD<G5E>4O E<EF5<4 3.75 4 4.5 5 5.5 6 6.5 7 8 9 10 12 15 16 19 20

%,� F/5 G/6 7 H/8 I/9 J/10 K/10,5 L/11 M/13 N/15 P Q S

�5?<>>5D<F4=<O / �4=444 8 7 6 5 4 3 2
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�>?57=O5 ?D54<5FO

�><<<> >DNG>>6, 64< ?D<7>4OFEO < =5>>F>DO5 4DG7<5 65M<. &>G=55, =5>>F>DO5 ?D<7>4OFEO >5O74F5?L-
=> (=>6=<FO, E4=F<<5FD, <7?4, <4D>5DO, 5G?46><), 4 =5>>F>DO5 4  <>7GF ?D<7>4<FLEO (EG5FG<> ?5F5?L, 
>>>?NL>< 4?O ?DO6<, 4=7?<=E><5 5G?46><). �5>5O74F5?L=> ?>>G?4FL 6E5 ED47G 4  ?D54<5F4<< <7 D47DO44 
«<>65F ?D<7>4<FLEO» <>6=> 5G45F >57465EF<EL F>744, >>744 6 =<E 6>7=<>=5F D54?L=4O =5>5E>4<<>EFL.

ü �4D>5DO 4?O 6O74=<O

�4D>5D4<< ?D< =5>5E>4<<>EF< ?><5G4NF >F45?L=O5 ?5F-
?<, ?D>EF> F5??OO <4D>5D 74 ?5F?N. �=< ?57>> ?5D5=>EOFEO 
E <5EF4 =4 <5EF>, < <E <>6=> ?D<>D5??OFL > ?N5>= ?5F?5, 
4465 6 E5D54<=5 ?>?>F=4.

�G?46>< þ

�5?4F5?L=> =5 E?<L>>< F>=><5 < =5 >G5=L >>D>F><5. 
�=< =G6=O 4?O 6D5<5==>7> E>54<=5=<O 45F4?5= D45>-
FO < 4?O =4>4?O64=<O 6?46=>7> <745?<O =4 ??>E>GN 
?>65DE=>EFL (4?O F>7>, GF>5O ?D<44FL 5<G =G6=GN 
D>D<G ?>E?5 6O74=<O).

ü &>?EF4O <7?4 E FG?O< >>=F>< < 5>?LL<< GL>><

�G6=4, GF>5O 74>D5??OFL < ?DOF4FL >>=FO =<F5= < 4?O 
EL<64=<O 45F4?5= <745?<O.
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�>>?NL>< 4?O ?DO6< þ

%6>5>5D47=4O 4?LF5D=4F<64 <>F>4< < >?G5>4<. �4 
>>>?NL>< ?5D5<4FO64NF M==>5 >>?<G5EF6> =<F< 
E 5>?LL>7> <>F>4. -F> <>65F 5OFL G4>5=>, =4?D<<5D, 
?D< <=>7>F65F=>< 6O74=<<, >>744 6O D45>F45F5 E =5-
E>>?L><<< F65F4<< >4=>6D5<5==>.

252525252525252525252255252522255552555

ü %G5FG<> DO4>6 

«�4?><<=45F», E>>?L>> DO4>6 6O 
?D>6O74?<. �E?<, >>=5G=>, =5 745O64FL 
?>E?5 >464>7> DO44 ?5D5EF46?OFL =4 
=5< F<DDG.

%4=F<<5FD þ

�G65= 4?O <7<5D5=<O E6O74==OE >5D47F>6 < 4?O 
E=OF<O <5D>>.

ü �>6=<FO

� D5>?4<5, ?>64?G=, =5 =G644NFEO.

�=7?<=E><5 5G?46>< þ

�>7GF 74<5=<FL <4D>5DO 4?O 6O74=<O. �E E?>6=55 ?5-
D5EF46?OFL E <5EF4 =4 <5EF>, => 74F> >=< =5 <>7GF E4<< 
E?GG4==> 6O?4EFL <7 ?5F?<.
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�5D6O5 L47< 
�F4>, =4>>=5F-F> <>6=> ?5D5=F< >F F5>D<< > ?D4>F<>5! �E5 F5E=<>< 6O74=<O >DNG-
>>< 547<DGNFEO =4 =5E>>?L><E >E=>6=OE 6<44E ?5F5?L, < <<5==> > =<E <O < ?>7>6>-
D<< 6 MF>= 7?465. �4L<< DG>4< ?>=44>5<FEO >?D545?5==>5 6D5<O, GF>5O ?D<6O>=GFL 
> =G6=O< 46<65=<O<, MF> F5 =46O><, >>F>DO5 ?D<E>4OF E FD5=<D>6>>=. �>MF><G 
?D>EF> =5 F>D>?<F5EL < EF4D4=F5EL 6 ?5D6GN >G5D54L ?D46<?L=> ?>=OFL ?D<=F<? 
?D>6O7O64=<O F>= <?< <=>= ?5F?<. �?O F>7> GF>5O E6O74FL ?5D6O= >5D475F (< ?5D6>5 
>4=>D>4=>5 ?>?>F=>), 64< 4>EF4F>G=> 5G45F D47>5D4FLEO E 46G<O 6<44<< ?5F5?L, < <E 
65 E64F<F, GF>5O >E6><FL < E4<O= ?5D6O= G7>D.

�4> 45D64FL >DNG>>

%GM5EF6G5F 464 >5M5?D<=OFOE 64D<4=F4 ?>?>65=<O >DNG>4 6 DG>5. �=< D46=>F5==O, < >4>>= <7 =<E 
>>465FEO 5>?55 G4>5=O< 4?O 64E, <>6=> >?D545?<FL F>?L>> >?OF=O< ?GF5<. �?D>5G=F5 <E >54 6 45?5, 
?>M>E?5D<<5=F<DG=F5, < 6O 5OEFD> ?>=<5F5, 6 >4>>< ?>?>65=<< >DNG>> ?GGL5 64E E?GL45FEO, 4 DG>< =5 
=4?DO74NFEO < =5 GEF4NF.

1 64D<4=F: 6>7L<<F5 >DNG>> 6 DG>G F4>, >4> 45D64F 
?D< ?<EL<5 DGG>G <?< >4D4=44L. �E?< =4 =5< 5EFL 
=55>?LL4O 6O5<>4, ?D<??NE=GF4O G4EFL, ?>?>6<-
F5 =4 =55 E 46GE EF>D>= 5>?LL>= < G>474F5?L=O= 
?4?LFO. �E?< 6O5<>< =5F, F> 45D6<F5 >DNG>> =4 
D4EEF>O=<< ?D<<5D=> 5 E< >F 57> 7>?>6><.

2 64D<4=F: 45D6<F5 >DNG>> ?> ?D<=F<?G EF>-
?>6>7> =>64 74 >554><. �4?LFO ?D< MF>< ?<5> 
=4E>4OFEO 6 6O5<>5, ?<5> ?D>EF> =4 D4EEF>O=<< 
?D<<5D=> 5 E< >F 7>?>6>< >DNG>4.

�D<5=F<DG=F5EL =4 E6>< >MGM5=<O. �DNG>< 5O64NF >G5=L D47=O<< < ?> 65EG, < ?> F>?M<=5 DGG><, < ?> D>D<5 
6O5<>< 4?O ?4?LF56. �E?< 64< >465FEO, GF> G4>5=55 5O?> 5O 45D64FL >DNG>> GGFL 5?<65 > 7>?>6>5 <?<, =4>5>D>F, GGFL 
44?LL5 >F =55, E<5?> <M<F5 ?>4E>4OM55 D4EEF>O=<5. �4< 4>?6=> 5OFL G4>5=>!

5 E<

5 E<
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�>?>65=<5 D45>G5= =<F<

�E?< >DNG>> =4E>4<FEO 6 ?D46>= DG>5, F> 6 ?56>= DG>5 45D64F D45>GGN =<FL. &>G=55, >=4 E>>?L7<F 6> 
6D5<O 6O74=<O G5D57 ?44>=L < 4>?6=4 ?>EF>O==> =4E>4<FLEO 6 =4FO=GF>< (=> =5 GD57<5D=>!) E>EF>O=<<. 
%F5?5=L =4FO65=<O >>=FD>?<DGNF ?4?LF4<<, >>F>DO5 654GF < ?D<45D6<64NF =<FL. %GM5EF6G5F <=>65-
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